
                                                                                              
   
 
 
 
 
 
 
          
 
  

V i s i t  U s  A t  w w w . m o r o s o . c o m 

 

V i s i t  U s  A t  w w w . m o r o s o . c o m 

MOROSO PERFORMANCE PRODUCTS, INC 
80 CARTER DR • GUILFORD, CT 06437 

Phone: (203) 453-6571 • Fax: (203) 453-6906 

For Technical Assistance, Call Moroso’s Tech Line at 
(203) 458-0542, 458-0546 8:30am – 5:00pm Eastern Time 

MOROSO PERFORMANCE PRODUCTS, INC 
80 CARTER DR • GUILFORD, CT 06437 

Phone: (203) 453-6571 • Fax: (203) 453-6906 

U – Joint Girdle, 1350 Series Race Yoke 
P/N 85830 

INSTALLATION INSTRUCTIONS 
Parts List 

2 Aluminum Girdles 
                      4      3/8 – 24 Counterbore Bolts 
                      4      12 – point Flange Nuts 
Remove existing u-joint straps. 
Push driveshaft towards transmission to gain added clear nce 
      for installation of Girdle and Fasteners. 
Place 3/8 Bolts through holes in Girdles and secure over 
     u-joint bearing caps with the Flange Nuts. 
Tighten bolts evenly making sure that the Girdles come d wn  
     straight and not cocked to one side. Torque fasteners o 45  
     ft/lbs.  
If needed, grind or file the yoke – DO NOT GRIND THE 
    GIRDLES!     85830 NST 

U – Joint G

INSTAL

2 Alum
                      4      3/8 –
                      4      12 –
Remove existing u-joint
Push driveshaft toward
      for installation of Gi
Place 3/8 Bolts through
     u-joint bearing caps 
Tighten bolts evenly ma
     straight and not cock
     ft/lbs.  
If needed, grind or file t
    GIRDLES!   

50 Series Race Yoke 
85830 
 INSTRUCTIONS 

ts List 
irdles 

unterbore Bolts 
lange Nuts 
 
ission to gain added clearance 
 Fasteners. 

n Girdles and secure over 
 Flange Nuts. 
re that the Girdles come down  
ne side. Torque fasteners to 45  

 – DO NOT GRIND THE 
  85830INST 

For Technical Assistance, Call Moroso’s Tech Line at 
(203) 458-0542, 458-0546 8:30am – 5:00pm Eastern Time 

For Technical As
(203) 458-0542, 458-0546 8:30am – 5:00pm Eastern Time

MOROSO PERFORMANCE PRODUCTS, INC 
80 CARTER DR • GUILFORD, CT 06437 

Phone: (203) 453-6571 • Fax: (203) 453-6906 

V i s i t  U s  A t  w w w . m o r o s o . c o m 

                                                                                                                  
   
 

 

For Technical Assistance, Call Moroso’s Tech Line at 
(203) 458-0542, 458-0546 8:30am – 5:00pm Eastern Time

U – Joint Girdle, 1350 Series Race Yoke 
P/N 85830 

INSTALLATION INSTRUCTIONS 
Parts List 

2 Aluminum Girdles 
                      4      3/8 – 24 Counterbore Bolts 
                      4      12 – point Flange Nuts 
Remove existing u-joint straps. 
Push driveshaft towards transmission to gain added clearance 
      for installation of Girdle and Fasteners. 
Place 3/8 Bolts through holes in Girdles and secure over 
     u-joint bearing caps with the Flange Nuts. 
Tighten bolts evenly making sure that the Girdles come down  
     straight and not cocked to one side. Torque fasteners to 45  
     ft/lbs.  
If needed, grind or file the yoke – DO NOT GRIND THE 
    GIRDLES!     85830INST 

U – Joint Girdle, 1350 Series Race Yoke 
P/N 85830 

INSTALLATION INSTRUCTIONS 
Parts List 

2 Aluminum Girdles 
           4      3/8 – 24 Counterbore Bolts 
           4      12 – point Flange Nuts 
Rem xisting u-joint straps. 
Pus shaft towards transmission to gain added clearance 
      allation of Girdle and Fasteners. 
Plac olts through holes in Girdles and secure over 
     u earing caps with the Flange Nuts. 
Tigh lts evenly making sure that the Girdles come down  
     straight and not cocked to one side. Torque fasteners to 45  
     ft/lbs.  
If needed, grind or file the yoke – DO NOT GRIND THE 
     GIRDLES    85830INST 

For Technical Assistance, Call Moroso’s Tech Line at 
(203) 458-0542, 458-0546 8:30am – 5:00pm Eastern Time 

 

 

U – Joint Girdle, 1350 Series Race Yoke 
P/N 85830 

INSTALLATION INSTRUCTIONS 
Parts List 

2 Aluminum Girdles 
                      4      3/8 – 24 Counterbore Bolts 
                      4      12 – point Flange Nuts 
Remove existing u-joint straps. 
Push driveshaft towards transmission to gain added clearance
      for installation of Girdle and Fasteners. 
Place 3/8 Bolts through holes in Girdles and secure ove  
     u-joint bearing caps with the Flange Nuts. 
Tighten bolts evenly making sure that the Girdles come own 
     straight and not cocked to one side. Torque fasteners to 45
     ft/lbs.  
If needed, grind or file the yoke – DO NOT GRIND THE 
    GIRDLES!                  85830INST

For Technical Assistance, Call Moroso’s Tech Line at 
(203) 458-0542, 458-0546 8:30am – 5:00pm Eastern Time 

 

MORO
80 

Phon

V 

O PER
RTER 
203) 4

U s  A 

ANCE PRODUCTS, INC 
GUILFORD, CT 06437 
71 • Fax: (203) 453-6906 

 w w . m o r o s o . c o m 
           
           
ove e

h drive
for inst
e 3/8 B
-joint b
ten bo
 

           
           
ve exis
drivesh
r instal
 3/8 Bo
oint be
n bolts

aight a
bs.  
ded, gr
IRDLE
    

 

 
  
 

r

d

 

a

o
t

I

FORMANCE PRODUCTS, INC 
DR • GUILFORD, CT 06437 
53-6571 • Fax: (203) 453-6906 

t  w w w . m o r o s o . c o m 

MOROSO PERFORM
80 CARTER DR • 

Phone: (203) 453-65

V i s i t  U s  A t  w
                          
irdle, 1350 Series Race Yoke 

P/N 85830 
LATION INSTRUCTIONS 

Parts List 
inum Girdles 
 24 Counterbore Bolts 

 point Flange Nuts 
 straps. 
s transmission to gain added clearance 
rdle and Fasteners. 
 holes in Girdles and secure over 
with the Flange Nuts. 
king sure that the Girdles come down  
ed to one side. Torque fasteners to 45  

he yoke – DO NOT GRIND THE 
  85830INST 

U – Joint Girdle, 13
P/N 

INSTALLATION
Par

2 Aluminum G
           4      3/8 – 24 Co
           4      12 – point F
Remo ting u-joint straps.
Push aft towards transm
      fo lation of Girdle and
Place lts through holes i
     u-j aring caps with the
Tighte  evenly making su
     str nd not cocked to o
     ft/l
If nee ind or file the yoke
     G S!  

sistance, Call Moroso’s Tech Line at 
SO PERFORMANCE PRODUCTS, INC 
CARTER DR • GUILFORD, CT 06437 
e: (203) 453-6571 • Fax: (203) 453-6906 

i s i t  U s  A t  w w w . m o r o s o . c o m 

MOROS
80 CA

Phone: (

V i s i t  


